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Identify the vertices and foci of each.  Then sketch the graph.
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Identify the vertices and foci of each.

5)  -x2 + 9y2 - 2x - 18y - 73 = 0 6)  x2 - y2 + 8x - 8y - 81 = 0

7)  4x2 - y2 - 16x + 6y - 57 = 0

Use the information provided to write the standard form equation of each hyperbola.

8)  Vertices: (0, 6), (0, -6)
Endpoints of Conjugate Axis: (8, 0)

(-8, 0)

9)  Vertices: (3, 7), (3, -3)
Endpoints of Conjugate Axis: (11, 2)

(-5, 2)

10)  Vertices: (10, -8), (-6, -8)
Foci: (12, -8), (-8, -8)

11)  Vertices: (10, -9), (-4, -9)
Foci: (3 + 130 , -9), (3 - 130 , -9)

12)  Vertices: (-1, 10), (-19, 10)
Conjugate Axis is 4 units long

13)  Vertices: (9, 9), (-11, 9)
Conjugate Axis is 24 units long
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Identify the vertices and foci of each.  Then sketch the graph.
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Identify the vertices and foci of each.

5)  -x2 + 9y2 - 2x - 18y - 73 = 0

Vertices: (-1, 4), (-1, -2)
Foci: (-1, 1 + 3 10), (-1, 1 - 3 10)

6)  x2 - y2 + 8x - 8y - 81 = 0

Vertices: (5, -4), (-13, -4)
Foci: (-4 + 9 2 , -4), (-4 - 9 2 , -4)

7)  4x2 - y2 - 16x + 6y - 57 = 0

Vertices: (6, 3), (-2, 3)
Foci: (2 + 4 5 , 3), (2 - 4 5 , 3)

Use the information provided to write the standard form equation of each hyperbola.

8)  Vertices: (0, 6), (0, -6)
Endpoints of Conjugate Axis: (8, 0)

(-8, 0)
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9)  Vertices: (3, 7), (3, -3)
Endpoints of Conjugate Axis: (11, 2)

(-5, 2)
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10)  Vertices: (10, -8), (-6, -8)
Foci: (12, -8), (-8, -8)
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11)  Vertices: (10, -9), (-4, -9)
Foci: (3 + 130 , -9), (3 - 130 , -9)
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12)  Vertices: (-1, 10), (-19, 10)
Conjugate Axis is 4 units long
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13)  Vertices: (9, 9), (-11, 9)
Conjugate Axis is 24 units long
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